VEVOR

TOUGH TOOLS, HALF PRICE

Technical Support and E-Warranty Certificate
www.vevor.com/support

Moveable Welding Table
USER MANUAL

We continue to be committed to provide you tools with competitive price.
"Save Half", "Half Price" or any other similar expressions used by us only represents an
estimate of savings you might benefit from buying certain tools with us compared to the
maijor top brands and doses not necessarily mean to cover all categories of tools offered
by us. You are kindly reminded to verify carefully when you are placing an order with us
if you are actually saving half in comparison with the top major brands.



VEVOR® Moveable Welding Table

TOUGH TOOLS, HALF PRICE INSTALLATION INSTRUCTION

Model: WT1200

Note: the quantity of parts shown in the manual is the actual usage and the unused
parts are spare parts.

NEED HELP? CONTACT US!

Have product questions? Need technical support? Please feel free to contact us:
X CustomerService@vevor.com

This is the original instruction, please read all manual instructions carefully before operating.
VEVOR reserves clear interpretation of our user manual. The appearance of the product shall be
subject to the product you received. Please forgive us that we won't inform you again if there is
any technology or software updates on our product.



AW N -

a b~ 0N -

ASSEMBLY PRECAUTIONS

. Assemble only according to these instructions. Incorrect assembly can be a hazard.

. Wear safety goggles and heavy-duty work gloves during assembly.

. Do not assemble when tired or when under the influence of alcohol, drugs or medication.

. Weight capacity and other product capabilities apply to properly and completely assembled

product only.

USE PRECAUTIONS

. This product is not a toy. Do not allow children to play with or approach this item.

. Use as intended only. Do not sit or stand on table.

. Inspect before every use. Do not use if parts are loose or damaged.

. Use only on flat, level, hard surface.

. Do not exceed listed weight capacity. Tighten all knobs securely before applying load.

Be aware of dynamic loading! Sudden load movement may briefly create excess load causing
product failure.

6. The maximum load of the product is 1200 Ib (544 Kg).

ASSEMBLY INSTRUCTIONS

For additional information regarding the parts listed in the following pages, refer to the Assembly
Diagram of this manual. Unwrap and separate all parts on a clear work area.

PACKAGE CONTENTS

1. Table Top x 1 2. Handle x 1

3. Tool palette x 1 4. Table leg x 4

02




<

5. Casters Wheel x 4 6. M8 Nut x 16

<

7.M12 Nut x 4 8. M10 Nut x 4

9. M8 Screw x 16

ASSEMBLY STEPS

03




04




STEP 3

Component 3

9 x8
6 x8
STEP 4
8 & x4

05




Complete your product.

06




VEVOR

TOUGH TOOLS, HALF PRICE

Technical Support and E-Warranty Certificate
www.vevor.com/support

Made In China



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Assistance technique et certificat de garantie
électronique www.vevor.com/support

Table de soudage mobile
MANUEL D'UTILISATION

Nous continuons a nous engager a vous fournir des outils a des prix compétitifs.
« Economisez la moitié », « Moitié prix » ou toute autre expression similaire utilisée par nous ne représente
qu'une estimation des économies que vous pourriez réaliser en achetant certains outils chez nous par
rapport aux grandes marques et ne couvre pas nécessairement toutes les catégories d'outils que nous
proposons. Nous vous rappelons de bien vouloir vérifier soigneusement lorsque vous passez une
commande chez nous si vous économisez réellement la moitié par rapport aux grandes marques.



Machine Translated by Google

VEVOR® Table de soudage mobile

TOUGH TOOLS, HALF PRICE INSTRUCTIONS D'INSTALLATION

Modéle : WT1200

Remarque : la quantité de piéces indiquée dans le manuel correspond a I'utilisation réelle et les pieces non utilisées
sont des piéces de rechange.

BESOIN D'AIDE? CONTACTEZ-NOUS!

Vous avez des questions sur les produits ? Vous avez besoin d'une assistance technique ? N'hésitez pas

8 a nous contacter : CustomerService@vevor.com

Il s'agit des instructions d'origine, veuillez lire attentivement toutes les instructions du manuel avant de I'utiliser.

VEVOR se réserve le droit d'interpréter clairement notre manuel d'utilisation. L'apparence du produit dépend du produit que vous avez
recu. Veuillez nous excuser, nous ne vous informerons plus si des mises a jour technologiques ou logicielles sont disponibles sur
notre produit.

01



Machine Translated by Google

PRECAUTIONS D'ASSEMBLAGE

1. Assemblez uniquement en suivant ces instructions. Un assemblage incorrect peut étre dangereux.
2. Portez des lunettes de sécurité et des gants de travail résistants pendant I'assemblage.
3. Ne montez pas lorsque vous étes fatigué ou sous l'influence de I'alcool, de drogues ou de médicaments.

4. La capacité de poids et les autres capacités du produit s'appliquent aux produits correctement et complétement assemblés.

produit uniqguement.

PRECAUTIONS D'EMPLOI

1. Ce produit n'est pas un jouet. Ne laissez pas les enfants jouer avec ou s'en approcher.

2. Utiliser uniquement comme prévu. Ne pas s'asseoir ou se tenir debout sur la table.

3. Inspectez I'appareil avant chaque utilisation. N'utilisez pas I'appareil si certaines piéces sont desserrées ou endommagées.
4. Utiliser uniquement sur une surface plane, horizontale et dure.

5. Ne pas dépasser la capacité de poids indiquée. Bien serrer tous les boutons avant d'appliquer la charge.
Soyez attentif aux charges dynamiques ! Un mouvement de charge soudain peut briévement créer une charge excessive entrainant une défaillance du

produit.

6. La charge maximale du produit est de 1 200 Ib (544 kg).

INSTRUCTIONS DE MONTAGE

Pour plus d'informations sur les piéces répertoriées dans les pages suivantes, reportez-vous au schéma d'assemblage de ce manuel. Déballez et séparez

toutes les piéces sur une zone de travail dégagée.

CONTENU DU COLIS

1. Plateau de table x 1 2. Poignée x 1

3. Palette d'outils x 1 4. Pied de table x 4

02



Machine Translated by Google

5. Roulettes x 4 6. Ecrou M8 x 16
7.Ecrou M12 x 4 8. Ecrou M10 x 4
9.VisM8 x 16

ETAPES D'ASSEMBLAGE

03



Machine Translated by Google

ETAPE 1

04



Machine Translated by Google

ETAPE 3

Composante 3

ETAPE 4

05




Machine Translated by Google

Complétez votre produit.

06



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Assistance technique et certificat de garantie électronique
www.vevor.com/support

Fabriqué en Chine



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Technischer Support und E-Garantie-Zertifikat
www.vevor.com/support

Beweglicher Schweildtisch
BENUTZERHANDBUCH

Wir sind weiterhin bestrebt, Ihnen Werkzeuge zu wettbewerbsféhigen Preisen anzubieten.
,Sparen Sie die Halfte, ,Halber Preis“ oder andere ahnliche Ausdriicke, die wir verwenden, stellen nur eine
Schéatzung der Ersparnis dar, die Sie beim Kauf bestimmter Werkzeuge bei uns im Vergleich zu den groRen
Topmarken erzielen konnen, und bedeuten nicht unbedingt, dass sie alle von uns angebotenen
Werkzeugkategorien abdecken. Wir mochten Sie freundlich daran erinnern, bei lhrer Bestellung bei uns
sorgfaltig zu prifen, ob Sie im Vergleich zu den grofRen Topmarken tatsachlich die Halfte sparen.



Machine Translated by Google

VEVOR® Beweglicher Schweilitisch

TOUGH TOOLS, HALF PRICE INSTALLATIONSANLEITUNG

Modell: WT1200

Hinweis: Die in der Anleitung angegebene Teilemenge entspricht der tatsachlichen Nutzung und die nicht
verwendeten Teile sind Ersatzteile.

Brauchen Sie Hilfe? Kontaktieren Sie uns!

Haben Sie Fragen zum Produkt? Bendtigen Sie technischen Support? Kontaktieren Sie

@ uns gerne: CustomerService@vevor.com

Dies ist die Originalanleitung. Lesen Sie vor der Inbetriebnahme bitte alle Anweisungen im Handbuch sorgfaltig durch.

VEVOR behélt sich die genaue Auslegung unseres Benutzerhandbuchs vor. Das Erscheinungsbild des Produkts richtet sich nach
dem Produkt, das Sie erhalten haben. Bitte verzeihen Sie uns, dass wir Sie nicht erneut informieren, wenn es Technologie- oder
Software-Updates fiir unser Produkt gibt.

01



Machine Translated by Google

VORSICHTSMASSNAHMEN BEI DER MONTAGE

1. Bauen Sie das Gerat nur gemaR dieser Anleitung zusammen. Eine falsche Montage kann geféhrlich sein.
2. Tragen Sie wéahrend der Montage eine Schutzbrille und strapazierfahige Arbeitshandschuhe.
3. Nicht montieren, wenn Sie mide sind oder unter dem Einfluss von Alkohol, Drogen oder Medikamenten stehen.

4. Die Gewichtskapazitat und andere Produkteigenschaften gelten fiir ordnungsgeman und vollstandig montierte

nur Produkt.

VORSICHTSMASSNAHMEN BEIM GEBRAUCH

1. Dieses Produkt ist kein Spielzeug. Erlauben Sie Kindern nicht, mit diesem Produkt zu spielen oder sich ihm zu nahern.
2. Nur bestimmungsgeman verwenden. Nicht auf dem Tisch sitzen oder stehen.
3. Vor jedem Gebrauch tiberprifen. Nicht verwenden, wenn Teile lose oder beschadigt sind.

4. Nur auf flachen, ebenen und harten Oberflachen verwenden.

5. Die angegebene Gewichtskapazitéat darf nicht tberschritten werden. Ziehen Sie alle Knopfe fest an, bevor Sie eine Last aufbringen.
Achten Sie auf dynamische Belastungen! Plotzliche Lastbewegungen kénnen kurzzeitig zu einer Uberlastung und damit zu Produktversagen

fahren.

6. Die maximale Belastung des Produkts betragt 1200 Ib (544 kg).
MONTAGEANLEITUNG

Weitere Informationen zu den auf den folgenden Seiten aufgefiihrten Teilen finden Sie im Montagediagramm dieses Handbuchs. Packen Sie alle

Teile auf einem freien Arbeitsbereich aus und trennen Sie sie voneinander.

PACKUNGSINHALT

AR 4

1. Tischplatte x 1 2. Griffx 1

3. Werkzeugpalette x 1 4. Tischbein x 4

02



Machine Translated by Google

<

5. Lenkrollen x 4 6. M8 Mutter x 16
7. M12 Mutter x 4 8. M10 Mutter x 4

-

9. M8 Schraube x 16

MONTAGEANLEITUNG

03



Machine Translated by Google

SCHRITT 1

3

Komponente 1

SCHRITT 2

Komponente 2

04




Machine Translated by Google

SCHRITT 3

Komponente 3

SCHRITT 4

05




Machine Translated by Google

Vervollstandigen Sie Ihr Produkt.

06



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Technischer Support und E-Garantie-Zertifikat
www.vevor.com/support

In China hergestellt



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Supporto tecnico e certificato di garanzia
elettronica www.vevor.com/support

Tavolo di saldatura mobile
MANUALE D'USO

Continuiamo a impegnarci per fornirvi strumenti a prezzi competitivi.
"Risparmia la meta", "Meta prezzo" o qualsiasi altra espressione simile da noi utilizzata rappresenta
solo una stima del risparmio che potresti ottenere acquistando determinati utensili con noi rispetto
ai principali marchi principali e non necessariamente intende coprire tutte le categorie di utensili da
noi offerti. Ti ricordiamo cortesemente di verificare attentamente quando effettui un ordine con noi
se stai effettivamente risparmiando la meta rispetto ai principali marchi principali.



Machine Translated by Google

VEVOR® Tavolo di saldatura mobile

TOUGH TOOLS, HALF PRICE ISTRUZIONI PER L'INSTALLAZIONE

Modello: WT1200

Nota: la quantita di parti indicata nel manuale corrisponde all'uso effettivo e le parti non utilizzate sono
pezzi di ricambio.

HAI BISOGNO DI AIUTO? CONTATTACI!

Hai domande sul prodotto? Hai bisogno di supporto tecnico? Non esitare a

@ contattarci: CustomerService@vevor.com

Queste sono le istruzioni originali, leggere attentamente tutte le istruzioni del manuale prima di utilizzare il prodotto.
VEVOR si riserva la chiara interpretazione del nostro manuale utente. L'aspetto del prodotto sara soggetto al prodotto
ricevuto. Vi preghiamo di perdonarci se non vi informeremo di nuovo se ci saranno aggiornamenti tecnologici o
software sul nostro prodotto.

01



Machine Translated by Google

PRECAUZIONI DI MONTAGGIO

1. Montare solo secondo queste istruzioni. Un montaggio non corretto pud essere pericoloso.
2. Durante il montaggio, indossare occhiali protettivi e guanti da lavoro resistenti.
3. Non riunirsi quando si & stanchi o sotto I'effetto di alcol, droghe o farmaci.

4. La capacita di peso e le altre capacita del prodotto si applicano a prodotti correttamente e completamente assemblati

solo prodotto.

PRECAUZIONI D'USO

1. Questo prodotto non & un giocattolo. Non permettere ai bambini di giocare con questo articolo o di avvicinarsi ad esso.
2. Utilizzare solo come previsto. Non sedersi o stare in piedi sul tavolo.
3. Ispezionare prima di ogni utilizzo. Non utilizzare se le parti sono allentate o danneggiate.

4. Utilizzare solo su superfici piane, livellate e dure.

5. Non superare la capacita di peso indicata. Serrare saldamente tutte le manopole prima di applicare il carico.
Siate consapevoli del carico dinamico! Un movimento improvviso del carico pud creare brevemente un carico eccessivo, causando il

guasto del prodotto.

6. Il carico massimo del prodotto e di 1200 libbre (544 kg).

ISTRUZIONI DI MONTAGGIO

Per ulteriori informazioni sulle parti elencate nelle pagine seguenti, fare riferimento allo schema di montaggio di questo manuale. Disimballare

e separare tutte le parti su un‘area di lavoro libera.

CONTENUTO DELLA CONFEZIONE

1. Piano del tavolo x 1 2. Maniglia x 1

3. Tavolozza degli strumenti x 1 4. Gamba del tavolo x 4

02



Machine Translated by Google

5. Ruote girevoli x 4 6. Dado M8 x 16
7. Dado M12 x 4 8. Dado M10 x 4
9. Vite M8 x 16

FASI DI MONTAGGIO

03



Machine Translated by Google

PASSO 1

04



Machine Translated by Google

PASSO 3

Componente 3

PASSO 4

05




Machine Translated by Google

Completa il tuo prodotto.

06



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Supporto tecnico e certificato di garanzia
elettronica www.vevor.com/support
Made in China



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Soporte técnico y certificado de garantia
electronica www.vevor.com/support

Mesa de soldadura movil
MANUAL DEL USUARIO

Seguimos comprometidos a brindarle herramientas a precios competitivos.
"Ahorre la mitad", "mitad de precio" o cualquier otra expresion similar que utilicemos solo representa
una estimacion del ahorro que podria obtener al comprar ciertas herramientas con nosotros en
comparacion con las principales marcas y no necesariamente significa que cubra todas las categorias
de herramientas que ofrecemos. Le recordamos que, al realizar un pedido con nosotros, verifique
cuidadosamente si realmente esta ahorrando la mitad en comparacién con las principales marcas.



Machine Translated by Google
® r L]
VEVOR Mesa de soldadura movil
TOUGH TOOLS, HALF PRICE INSTRUCCIONES DE INSTALACION

Modelo: WT1200

Nota: la cantidad de piezas que se muestra en el manual es el uso real y las piezas no utilizadas
son piezas de repuesto.

¢NECESITA AYUDA? {CONTACTENOS!

¢ Tiene preguntas sobre el producto? ;Necesita asistencia técnica? No dude en ponerse en

8 contacto con nosotros: CustomerService@vevor.com

Estas son las instrucciones originales, lea atentamente todas las instrucciones del manual antes de operar.
VEVOR se reserva el derecho de interpretar nuestro manual de usuario. La apariencia del producto dependera
del producto que haya recibido. Le rogamos que nos disculpe por no informarle nuevamente si hay
actualizaciones tecnoldgicas o de software en nuestro producto.

01



Machine Translated by Google

PRECAUCIONES DE MONTAJE

1. Realice el montaje Unicamente de acuerdo con estas instrucciones. Un montaje incorrecto puede suponer un riesgo.
2. Use gafas de seguridad y guantes de trabajo resistentes durante el montaje.
3. No se retina cuando esté cansado o bajo la influencia del alcohol, drogas o medicamentos.

4. La capacidad de peso y otras capacidades del producto se aplican a productos ensamblados de manera correcta y completa.
Sélo producto.

PRECAUCIONES DE USO

1. Este producto no es un juguete. No permita que los nifios jueguen con este articulo ni se acerquen a él.
2. Utilicelo unicamente para el fin previsto. No se siente ni se pare sobre una mesa.

3. Inspeccione el producto antes de cada uso. No lo utilice si hay piezas sueltas o dafadas.

4. Uselo Ginicamente en superficies planas, niveladas y duras.

5. No exceda la capacidad de peso indicada. Ajuste bien todas las perillas antes de aplicar la carga.
iTenga cuidado con la carga dindmica! EI movimiento repentino de la carga puede generar brevemente un exceso de carga que provoque
la falla del producto.

6. La carga maxima del producto es de 1200 Ib (544 Kg).

INSTRUCCIONES DE MONTAJE

Para obtener informacion adicional sobre las piezas que se enumeran en las paginas siguientes, consulte el diagrama de ensamblaje de
este manual. Desenvuelva y separe todas las piezas en un area de trabajo despejada.

CONTENIDO DEL PAQUETE

1. Tablero de mesa x 1 2. Mango x 1

3. Paleta de herramientas x 1 4. Pata de mesa x 4

02



Machine Translated by Google

<

5. Ruedas giratorias x 4 6. Tuerca M8 x 16
7. Tuerca M12 x 4 8. Tuerca M10 x 4

9. Tornillo M8 x 16

PASOS DE MONTAJE

03



Machine Translated by Google

PASO 1

04



Machine Translated by Google

PASO 3

Componente 3

PASO 4

8 & x4

05




Machine Translated by Google

Completa tu producto.

06



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Soporte técnico y certificado de garantia
electronica www.vevor.com/support
Hecho en china



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Wsparcie techniczne i certyfikat gwarancji
elektronicznej www.vevor.com/support

Ruchomy stét spawalniczy
INSTRUKCJA OBSEUGI

Nadal staramy sie oferowa¢ Paristwu narzedzia w konkurencyjnych cenach.
,Oszczedz potowe”, ,Potowa ceny” lub inne podobne wyrazenia uzywane przez nas stanowig
jedynie szacunkowe oszczednosci, jakie mozesz uzyskac¢ kupujac u nas okreslone narzedzia w
poréwnaniu z gtéwnymi markami i niekoniecznie oznaczajg one objecie wszystkich kategorii
narzedzi oferowanych przez nas. Uprzejmie przypominamy, aby doktadnie sprawdzi¢, czy
sktadajgc u nas zamowienie faktycznie oszczedzasz potowe w poréwnaniu z gtéwnymi markami.



Machine Translated by Google
® Ve .
VEVOR Ruchomy sto6t spawalniczy

TOUGH TOOLS, HALF PRICE INSTRUKGJA INSTALACIT

Model: WT1200

Uwaga: ilo$¢ czesci podana w instrukcji oznacza faktyczne zuzycie, czesci nieuzywane sg cze$ciami
zamiennymi.

POTRZEBUJESZ POMOCY? SKONTAKTUJ SIE Z NAMI!

Masz pytania dotyczgce produktu? Potrzebujesz wsparcia technicznego? Skontaktuj

@ sie z nami: CustomerService@vevor.com

To jest oryginalna instrukcja, przed rozpoczeciem uzytkowania nalezy uwaznie przeczyta¢ wszystkie instrukcje.
VEVOR zastrzega sobie prawo do jasnej interpretacji naszej instrukcji obstugi. Wyglad produktu bedzie zalezat od
produktu, ktéry otrzymates. Prosimy o wybaczenie, ze nie poinformujemy Cie ponownie, jesli w naszym produkcie
pojawiga sie jakiekolwiek aktualizacje technologiczne lub oprogramowania.

01



Machine Translated by Google

SRODKI OSTROZNOSCI PODCZAS MONTAZU

1. Montaz nalezy wykonywac wytgcznie zgodnie z niniejsza instrukcja. Nieprawidtowy montaz moze by¢ niebezpieczny.
2. Podczas montazu nalezy nosi¢ okulary ochronne i solidne rekawice robocze.
3. Nie przychodz na spotkania, jesli jeste$ zmeczony lub pod wptywem alkoholu, narkotykéw lub lekéw.

4. Nosnosc i inne parametry produktu dotyczg produktu prawidtowo i catkowicie zmontowanego.

tylko produkt.

SRODKI OSTROZNOSCI

1. Ten produkt nie jest zabawka. Nie pozwalaj dzieciom bawic sie tym przedmiotem ani zblizac sie do niego.
2. Uzywac wytgcznie zgodnie z przeznaczeniem. Nie siadac ani nie stawac na stole.
3. Przed kazdym uzyciem sprawdz. Nie uzywaj, jesli czesci sg luzne lub uszkodzone.

4. Stosowac wytacznie na ptaskiej, réwnej i twardej powierzchni.

5. Nie przekraczaj podanego udzwigu. Przed zastosowaniem obcigzenia dokre¢ mocno wszystkie pokretta.
Nalezy pamietac o dynamicznym obcigzeniu! Nagty ruch obcigzenia moze chwilowo spowodowac nadmierne obcigzenie powodujace awarie

produktu.

6. Maksymalne obcigzenie produktu wynosi 1200 funtéw (544 kg).

INSTRUKCJA MONTAZU

Aby uzyska¢ dodatkowe informacje dotyczgce czesci wymienionych na kolejnych stronach, zapoznaj sie ze schematem montazu w tym podreczniku.

Rozpakuj i oddziel wszystkie czesci na czystym obszarze roboczym.

ZAWARTOSC OPAKOWANIA

1. Blat stotu x 1 2. Uchwyt x 1

3. Paleta narzedzi x 1 4. Noga stotu x 4




Machine Translated by Google

P

5. Kétka x 4 6. Nakretka M8 x 16
7. Nakretka M12 x 4 8. Nakretka M10 x 4

9. $ruba M8 x 16

KROKI MONTAZU

03



Machine Translated by Google

KROK 1

04



Machine Translated by Google

KROK 3

Komponent 3

KROK 4

8°><4

05




Machine Translated by Google

Uzupetnij swoj produkt.

06



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Wsparcie techniczne i certyfikat gwarancji elektronicznej
Www.vevor.com/support

Wyprodukowano w Chinach



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Technische ondersteuning en e-
garantiecertificaat www.vevor.com/support

Verplaatsbare lastafel
GEBRUIKERSHANDLEIDING

Wij streven er voortdurend naar om u gereedschappen tegen concurrerende prijzen te leveren.
"Bespaar de helft", "halve prijs" of andere soortgelijke uitdrukkingen die wij gebruiken, geven alleen een schatting
van de besparingen die u kunt behalen door bepaalde gereedschappen bij ons te kopen in vergelijking met de
grote topmerken en doseringen betekenen niet noodzakelijkerwijs dat ze alle categorieén gereedschappen dekken
die wij aanbieden. Wij herinneren u eraan om zorgvuldig te controleren of u daadwerkelijk de helft bespaart in
vergelijking met de grote topmerken wanneer u een bestelling bij ons plaatst.



Machine Translated by Google

VEVOR® Verplaatsbare lastafel

TOUGH TOOLS, HALF PRICE INSTALLATIE-INSTRUCTIES

Model: WT1200

Let op: de in de handleiding vermelde hoeveelheid onderdelen is het daadwerkelijke gebruik. De ongebruikte
onderdelen zijn reserveonderdelen.

HULP NODIG? NEEM CONTACT MET ONS OP!

Heeft u vragen over het product? Heeft u technische ondersteuning nodig? Neem dan gerust

8 contact met ons op: CustomerService@vevor.com

Dit zijn de originele instructies. Lees de volledige handleiding zorgvuldig door voordat u het product gebruikt.

VEVOR behoudt zich een duidelijke interpretatie van onze gebruikershandleiding voor. Het uiterlijk van het product is afhankelijk van
het product dat u hebt ontvangen. Vergeef ons dat we u niet opnieuw zullen informeren als er technologie- of software-updates voor
ons product zijn.

01



Machine Translated by Google

MONTAGEVOORZORGSMAATREGELEN

1. Monteer alleen volgens deze instructies. Onjuiste montage kan gevaarlijk zijn.
2. Draag tijdens de montage een veiligheidsbril en stevige werkhandschoenen.
3. Kom niet bijeen als u moe bent of onder invioed van alcohol, drugs of medicijnen.

4. Het draagvermogen en andere producteigenschappen zijn van toepassing op correct en volledig gemonteerde producten.
alleen product.

GEBRUIK VOORZORGSMAATREGELEN

1. Dit product is geen speelgoed. Laat kinderen niet met dit item spelen of in de buurt ervan komen.
2. Gebruik alleen zoals bedoeld. Ga niet op de tafel zitten of staan.
3. Inspecteer voor elk gebruik. Niet gebruiken als onderdelen los of beschadigd zijn.

4. Alleen gebruiken op een viakke, vlakke en harde ondergrond.

5. Overschrijd de vermelde gewichtscapaciteit niet. Draai alle knoppen stevig vast voordat u de belasting aanbrengt.
Let op dynamische belasting! Plotselinge belastingbewegingen kunnen kortstondig overmatige belasting veroorzaken, waardoor

het product kan falen.

6. De maximale belasting van het product bedraagt 544 kg.
MONTAGE-INSTRUCTIES

Voor aanvullende informatie over de onderdelen die op de volgende pagina's worden vermeld, raadpleegt u het montageschema van
deze handleiding. Pak alle onderdelen uit en scheid ze op een leeg werkgebied.

INHOUD VAN HET PAKKET

1. Tafelblad x 1 2. Handvat x 1

3. Gereedschappenpalet x 1 4. Tafelpoot x 4

02



Machine Translated by Google

<

5. Zwenkwielen x 4 6. M8 moer x 16
7. M12 moer x 4 8. M10 moer x 4

-

9. M8-schroef x 16

MONTAGESTAPPEN

03



Machine Translated by Google

STAP 1

04



Machine Translated by Google

STAP 3

Onderdeel 3

STAP 4

8°><4

05




Machine Translated by Google

Maak uw product compleet.

06



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Technische ondersteuning en e-garantiecertificaat
www.vevor.com/support

Gemaakt in China



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Teknisk support och e-garanticertifikat
www.vevor.com/support

Flyttbart svetsbord
ANVANDARMANUAL

Vi fortsétter att vara engagerade i att ge dig verktyg till konkurrenskraftiga priser.
"Spara halva", "halva priset" eller andra liknande uttryck som anvénds av oss representerar bara
en uppskattning av besparingar du kan dra nytta av att képa vissa verktyg hos oss jamfort med
de stora toppmaérkena och doser behdver inte nédvandigtvis tacka alla kategorier av verktyg som
erbjuds av oss. Du padminns vanligen om att noggrant kontrollera nar du gor en bestalining hos
oss om du faktiskt sparar hélften i jAmforelse med de frémsta stora varumarkena.



Machine Translated by Google

VEVOR® Flyttbart svetsbord

TOUGH TOOLS, HALF PRICE INSTALLATIONSANVISNING

Modell: WT1200

Obs: mangden delar som visas i manualen ar den faktiska anvandningen och de oanvénda
delarna &r reservdelar.

BEHOVER HJALP? KONTAKTA OSS!

Har du produktfragor? Behéver du teknisk support? Kontakta oss garna:

@ CustomerService@vevor.com

Detta &r den ursprungliga instruktionen, 1as alla instruktioner noggrant innan du anvander den.

VEVOR reserverar sig for en tydlig tolkning av var anvandarmanual. Utseendet pa produkten &r beroende
av den produkt du fatt. Ursékta oss att vi inte kommer att informera dig igen om det finns nagon teknik
eller mjukvaruuppdateringar pa var produkt.

01



Machine Translated by Google

FORSIKTIGHETSATGARDER FOR MONTERING

1. Montera endast enligt dessa instruktioner. Felaktig montering kan vara en fara.
2. Anvand skyddsglaségon och kraftiga arbetshandskar vid montering.
3. Satt dig inte ihop nér du ar trott eller paverkad av alkohol, droger eller mediciner.

4. Viktkapacitet och andra produktegenskaper galler for korrekt och fullstandigt monterade
endast produkt.

ANVAND FORSIKTIGHETSATGARDER

1. Denna produkt &r inte en leksak. L&t inte barn leka med eller narma sig detta féremal.
2. Anvand endast pa avsett satt. Sitt eller sta inte pa bordet.
3. Inspektera fore varje anvandning. Anvand inte om delar ar I6sa eller skadade.

4. Anvand endast pa plan, jamn, hard yta.

5. Overskrid inte den angivna viktkapaciteten. Dra &t alla knoppar ordentligt innan du applicerar belastning.
Var uppméarksam pa dynamisk laddning! Plétsliga lastrorelser kan kortvarigt skapa dverbelastning som orsakar
produktfel.

6. Produktens maximala belastning &ar 1200 Ib (544 kg).

MONTERINGSINSTRUKTIONER

For ytterligare information om delarna som listas pa féljande sidor, se monteringsdiagrammet i denna handbok.
Packa upp och separera alla delar pa en fri arbetsyta.

PAKETENS INNEHALL

1. Bordsskiva x 1 2. Handtag x 1

3. Verktygspalett x 1 4. Bordsben x 4

02



Machine Translated by Google

<

5. Hjul Hjul x 4 6. M8 Mutter x 16
7. M12 Mutter x 4 8. M10 Mutter x 4

9. M8 skruv x 16

MONTERINGSSEG

03



Machine Translated by Google

STEG 1

04



Machine Translated by Google

STEG 3

Komponent 3

STEG 4

8°><4

05




Machine Translated by Google

Komplettera din produkt.

06



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Teknisk support och e-garanticertifikat
www.vevor.com/support

Tillverkad i Kina



